Solve the following equations (1 to 12):
Question 1.

(()5x—3=3x-5

(i) 3x = 7= 3(5 - X)

Solution:

()5x —3=3x-5

= OX—-3X=-5+3

= 2X=—2

=2
=>X="72 =-]

(i) 3x = 7 = 3(5 = X)
= 3x-7=15- 3x
= 3x+3x=15+7

> 0x=22
22 11

> XEqg " 5



Question 2.
()4(2x+1)=3(x—1)+

(i) 32p—1)=5 —<3p—2)
Solution:
()42x+1)=3(x—-1)+7
= 8X+4=3x—-3+7

= 8x+4=3x+4
=8Xx—-3x=0

=>x=0

(H3(2p-1)=5-(3Bp-2)
=>06p—-3=0—-3p+2

= 6p+3p=5+3+2
=9p =10

10_11
=p=9 9

Question 3.
()5y—-2ly-3(y-9l=6
(i) 0.3(6 — x) = 0.4(x + 8)
Solution:

() Sy -2y -3(y-9)] =
= 5y —2[y—3y+15] =
=> 5y —2[-2y+15]=6
=>oy+4y-30=6
=9y =6+30

=9y =36

y- ¥

=>y=4



(i)0.3(6-x)=0.4(x+8)
= 1.8-03x=04x+32
= 0.3x—04x=32-1.8
= —0. 7x =14

Question 4.

x—1 __ :c+2
()3 =% 3
z+7 __ 1 4 Sz—2 33: 2

(i) 3~

Solution:

x-1 x+2
(i) 3 3 +3

~ Jc-l_x+2=3
3 6

- 2(x=1)=1(x+2)

o =3

- 2x-2-x-2 -3




o X+7 o 3x=2
(if) 3 =]+ 5

x+7_3x-2 .
3 S

= |

t Sx(x+7)-3(3x-2) _

15 :

o~ (5x+35)-(9x-6) _

15 :

~4x +41 =1
15

=>-4x+41=15
= —4x=15-41

= -4x =-26
=26
= X="-4

13
=2 X=2

Solution:
t L e WO G 4
=573

2x(y+1D)=3x(y=1 _ 1+2y
6 3

2y+2-3y+3 1+2y
= 6 3




-y+5 1+2y
6 3
=>3(-y+5=6(1+2y)
= -3y +15=6+ 12y
= -3y -12y=6-15
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20p+15p+12(p+40)
= 60 =

20p+15p+12p+480
25 B

47p +480
60

= 47p+480 =55x%60

= 47p + 480 = 3300

= 47p =3300 — 480

= 47p = 2820

2820
= p= 47

= p=60
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Question 6.

n-| n-2

Da-=3—=1=-73

-2 +21+3_ +l
(ii) 3 5 -y 6

Solution:

. n-1 -1 n-2
Bn-="=1-73

2n-n+l _3-—n+2
2 3
=>3(n+1)=2(5-n)
2> 3n+3=10—2n
=>3n+2n=10-3
T_12
= D=7 = =5~ &

s

-2 N 2t+3 l
) =3 3 "I+
23t-2)+32+3) _ 61+

6

=> (6t-4)+(6t+9)=6t+7
= 12t+5=06t+7/

= 12t-06t=7-95
S6t=2=t=5=3

Question /.

(i) 4(3x + 2) - 5(6x - 1) = 2(x - 8) -

6(7x — 4)

(i) 3(5x + 7) + 5(2x - 11) = 3(8x - 5) - 15



Solution:

() 4(3x+2) — 5(6x—1)=2(x —8) — 6(7x — 4)
= 12Xx+8-30x+5=2x—-16—-42x+ 24

= -18x+13=-40x+8
=>-18x+40x=8-13

-5
= 22X =—H =X =23

(i) B(5x:+7) + 5(2¢=T1) = 3(Bx=5) =15
= 10x+21+10x—55=24x—-15-15
= 25x — 34 =24x - 30

= 26x— 24% =-30+34

=>XxX=4

Question 8.

Solution:
9—=2z __ __ 3
()2z45 = 11

= 11(3 — 2x) = -3(2x + 5)
=33 - 22x=-6Xx—15
= —22X+6x=-15—33
= -16x =-48

48
> X=16=3



Lopt2 7
(ii)8=2p — 6

=>6(5p+2)=7(8-2)p
= 30p+12=06-14p
= 30p+14p=56-12
= 44p =44

44
= p=aa=1

Question 9.

5 7
(i);=

x-4
5

(#) 2x+3 T x+4

Solution:

57
O =x-4

5(x—4)=7x
= oX — 20 = /X
= oX — /x=20
= -2x =20
L2
-2

..
2

= x=-10

=2 X



" __3
(i) 2x+3  x+4

= 4(x+4)=5(2x + 3)
=4x+16=10x+ 195

= —6x = -1

-1 _ 1
= X=-6__ 6
Question 10.

2x+5 5x

@ 2 —x-l-x
N R S P Y P
(")Sl3x 5)-3(3 x)
Solution:

2x+5 5x
=3 1"*

(2x+5) (x=1)=(5x)(2)
2(x~1) N

2x(x=D+5(x-1)-10x
=> =X
2x-2

2x2 = 2x+5x-5-10x -
2x -2

—

2x2 -Tx=5
=X
2x -2
= 2X2 - 7x—-5=x(2x - 2)
= 2x%2 = 7x — 5=2x% - 2x
= =7X— 3 ==2X
= —/X+2X=29
= -5X =35




3
= X=-5
-5
= X=5

= Xx=-1

o364
1 (1-5(3x) 1 (3x~1
”3(3—.\:)23( x )

1(1-15x) 1 (3x-1
=50 3« 3\ x
1-15x  3x-1
15x 3x
= 3x(1T - 15x) =15x (3x — 1)
=3(1-15x)=153x - 1)
= 3—45x=45x—- 15
= —45x — 45x =-15 - 3
= -90x =-18

_18 _ i
=>x="90 -~ % =3

Question 11.
2x — 3 3x-1
@D 571 = 3+
2y+3 4y +5
() 352 = 6p+7
Solution:
2x-3 3x-—l

D 221 = 3%+



=> (2% =8)(Bx:+1)= (Bx= 1) (2x="T)

=> 6X°+2X — X — 3=6X2— 3x — 2x+ 1

= 6x2—-7X—3=6x2—5x+1

= 6x2—-7X— 6Xx2+5x=1+3
:>—2x=4:>x:-i2=—2

(n)?é—ig:gz—i?

= 2y +3) (6y+7)=(4y +5) (3y + 2)

= 12y?+ 14y + 18y + 21 = 12y?+ 8y + 15y + 10
= 32y +21=23y+10

= 32y — 23y = 10 — 21

—11
= 0%y=-11=>y="9

Question 12.

If x =p + 1, find the value of p from the equation 3 (5x
~30)-3(1+7p)=1

Solution:

Givenx=p+ 1 ..(I)

Also 3(5x - 30) = 51+ 7p) =1 _ (i

Putting the value of x from (i) in (i), we get,

] | - ]
3 13(p+ 1D =30} -3 [1+7p]l=7

— %[5p+5—30] —%[l+7p]=%
= l[5p-25] -l[|+7p]-.-.'_
2 3 4

5p-25 1+7p |
=" 3 4




_, 36p-29-201+1p) _

i
6 4
15p-75-2-14p _

|
e 6 =2

-77 1
ol
=>4x(p-77)=1x6
= 4p - 308 =6
= 4p =6+ 308

= 4p = 314

= p=—



Question 13.

z+3 _ =2

Solve 5= — 7= = L Hence find pifz TP =1.

Solution:
x+3 x-2

3 2 l

L 2(+3)-3(x-2) _

: 1

2x+6-3x+6

6 I

—

~-x+12
5 = ]

= -x+12=1x6

=>-x+12=6

= -x=6-12

—

= -x==6
= x=06
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